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Algebra 1: Unit 1, lesson 2 Notes: Solving One-Step Equations

Name:

Foldable Activity -2l

Now with the help of your fol

da‘ble solve and write the properties.

Equivalent
25=n-17 . Equations:
A 43— Additea an-tf"") 7“,
o< ceunaTtrons
4= n i Qa_udﬂ"'es WiTH THE
SAWE
SoLwwon . -
seT
£570lv2éiand Justify with listing the properties used, ..~ = L0 e e
—21-42 e ' e
-3)+5=12
-f'l—' -\-l‘ AM:HH\H an‘j 0? (m )- 5 = j Su!'omtmh..‘:'- .
L Go_ua_u {3 Pe 3° %’U"ﬂ"@
B =41+ "‘3 m-3=173
3 +3
B-63
L—‘——J m= 10 Odo\'g:‘br\ g‘:g)er{?) T
: N . o
“’3'2‘ _:i C: Go-3)+5= 12
L= 5= 12
lz=12 % i
Sy c - Ao 23 FES A 0 » v
==t - 20 3 1
3 e <5 ::_Eg ’DTU‘Sh“ PNFU{-) " %w}\«

/'0 -
3
Solve, show each step and justify each step by listing the properties *’ ;-
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ra 1: Unit 1, lesson 2 Notes: Solving One-Step Equations Name:

word Problems: Write the qu -
estlon wnte rs€
 operations to P _ : the equatlon that best surts the quest:on, and use mve ST
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Example 1: Li e — :
p Linda gave c of her cookies to her sister. She gave her sister 4 cookies. d
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Example 2: One serving of soybeans contains 10 grams of protein, whichis 4 times the amount of one serving 0
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'./\/{")Example 3: The Earth’s radius is 6,371km, which is 2,981km longer than the radius of Mars.
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